
Question -1) What is the main issue discussed in the passage?

A. The increasing frequency of natural disasters.
B. The financial impact of natural disasters on insurance companies.
C. The need for new methods of insurance coverage in response to climate change.
D. The role of governments in managing natural disasters.

Question -2) According to the passage, what is a significant challenge for traditional
indemnity-based insurance products?

A. They are too expensive.
B. They require physical assessment of damage.
C. They are not widely accepted.
D. They do not cover natural disasters.
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Question -3) What is the primary advantage of parametric insurance products mentioned in
the passage?

A. They are less expensive than traditional insurance.
B. They provide immediate payouts without verification.
C. They cover a wider range of natural disasters.
D. They are customized for specific regions and hazards.

Question -4) Which of the following is an example of a parametric insurance product in India
mentioned in the passage?

A. National Crop Insurance Programme.
B. Pradhan Mantri Fasal Bima Yojana.
C. Restructured Weather Based Crop Insurance Scheme.
D. Cyclone Remal Insurance.

Question -5) What steps are suggested for governments to ensure effective use of parametric
insurance products?

A. Implementing a detailed damage assessment process.
B. Increasing insurance premiums for high-risk areas.
C. Setting precise thresholds and monitoring mechanisms.
D. Offering subsidies for parametric insurance premiums.

Question -6) How has the insurance industry in India responded to the need for climate
adaptation according to the passage?

A. By increasing premiums for high-risk areas.
B. By reducing coverage for low-impact disasters.
C. By embracing parametric insurance for climate adaptation.
D. By partnering with international insurance firms.
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